04451 D wEEFMHWRELRXE DB  BHIMIRE

7= miiEA

MR

BEXENBEREMAHEEHITZERXRE,
HBREmERTLUERR KK EE D,
FRERERATHETHTRE

FAXZERE , IR ETHL2E8AES , ARIHREMIEEN
EERMFM L,

BERERPPERI , TUBHREXENSFTLEIME,
BHITE  M12 = +1.0 mm, M16 = £1.5mm,

M
BRI FZE TR ARN.
g
BERMFZTHLELCNBZEENLE,
BR:
EXREALEWHENET AR TTUBAZESTER , LUEEIKENIH
RKERE,
#EE
Bk E,
Eifal

O,

)l
R =L ...:% B=50/72
; = # | T

Bi B=100

04451-0500412 D 98,5 1045 | 50 | 25 30| 125 35| M5 M12x30 M12x25 30 85
04451-0720412 D 1233 | 130,7 | 72 | 39,7 44| 213 |35| M6 M12X50 M12X40 30 85
04451-0720416 D 1233 | 130,7 | 72 | 39,7 44| 213 |3,5| M6 M16x50 M16X40 50 150
04451-1000416 D 1313 | 1412 | 100 | 426 64| 216 | 5 M8 M16x50 M16X40 50 150

© norelem www.norelem.com



04451 D wEEFTWEFXE D&  HINIRE

© norelem www.norelem.com



